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Choose the correct answer: (10 x 1=10)
. b) Bhakra Nangal Dam
. ¢) Electric cell
. d) Tungsten
. d) International Science Council
. b) Switch
. @) Alternating Current
. C) Sutlej
. a) Graphite
. b) Aluminium wires
10.a) A switch is the source of electric current in a circuit.
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Il. Choose the correct answer from options given below for the statements. (4x1=4)
11. a) Both A and R are true and R is the correct explanation of A

12. c) Ais true, but R is false

13. b) Both A and R are true, but R is not the correct explanation of A

14. c) Ais true, but R is false

lll. Read the circuit and answer the question carefully. (4x1=4)
15. d) Neither L1 nor L2

16. d) Neither L1 nor L2

17.c) Both L1 and L2

18. d) Neither L1 nor L2

IV. Short answer type questions -l (5x2=10)
19.
:)\ScWitCh
Battery
Torch

03

20. Electric wires are covered with plastic or rubber because these materials are insulators. They
prevent electric current from escaping the wire and also protect people from getting electric shock.
And the insulation prevents the wires from touching each other and causing short circuit.



21. The torch glows when the switch is in ‘ON’ position because it completes the electric circuit,
allowing the current to flow through the lamp. When the switch is in ‘OFF’ position, the circuit is
open and current cannot flow, so the lamp does not glow.

22. No, the other lamp will not glow if the filament of one lamp is broken.

If the filament of one lamp breaks , it creates a gap in the circuit. Even though the other lamp
might be perfect, it won’t glow because no electricity is reaching the bulb due to the broken
connection.

23. An electric circuit is a closed, continuous path that allows electric current to flow. When one
terminal of the lamp is connected to one terminal of the electric cell and the other terminal of the
lamp to the other terminal of the cell the lamp will glow. This setup forms an electrical circuit, which
provides a complete path for electric current to flow through the lamp.

V. Short answer type questions- Il (4x3=12)
24. Possible reasons:
i) Broken filament in the lamp
i) Loose connection in the circuit
iif) Dead battery
Iv) Faulty switch
To find out why the lamp did nit glow, one should :
i) Check the lamp for broken filament
i) Ensure all connections are secure
iii) Test the battery using simple tester to ensure whether it us working or not.
iv) Verify that the switch is in ‘ON’ position.

25.
CONDUCTORS INSULATORS
Materials through which electric current | Materials through which electric current
can flow easily are called conductors. cannot pass easily are called conductors
It is also called as good conductor of It is also called as poor conductor of
electricity electricity.
Eg, Silver, Gold, Copper Eg, Rubber, Plastic, Wood

26. Yes, there is difference between electricity from an electric cell and that from a wall socket.
Electricity from batteries usually powers small devices and is of a type called Direct Current
(DC). Eg. Batteries, Solar cells
In contrast, the electricity from power plants that come to the wall socket is known as
Alternating Current (AC) and can run larger appliances. They are used to power house hold
appliances, industrial equipments and in power grid.

27. Incandescent bulbs are found in many old torch lights. It contains a thin wire inside the glass
bulb of the lamp and it gets hot and produce light. This glowing thin wire is called the filament

of the lamp. It is made up of tungsten. If the filament is broken, the lamp will not glow. The filament
is attached to two thicker wires that support it. One thick wire is connected to the metal case at the
lamp’s base, while the other is connected to the metal tip at the centre of the base. These form the
two terminals of the lamp, and are fixed in a way that they do not touch each other. The two thick
wires are separated by an insulator.



